Wy Vo Reme
Metdns

Learnin
Pack

My Name is:

My Mathletics log on is:

My Mathletics password is:

My Education City log on is:

My Education City password is:




%

QLSO RS )

456/89101]12

— Y — .~

o i | a1 1
" - A . - a BV . v i & Py
] 4 [ : T8 | . yin s ]
I > # ad AT & S FAAYRN®LY
’ S o~ ] ¥ W | W |
| d . L
.__H__q__-_—1._-_. e T et o S

r‘ r.‘!i , .
| /7 |0¢C

Numeracy.vocaoulory
| Multiply Divide

and differerce botveen mufiplied by | share oqually
increase take away _ ps of | dvide by .
sum oy '

minus

: tlmu L, ¥ |group
IO‘O! er SO Ty o . |

t thor decrease kots divide into
rggfo take trom i ' divisible by 0




Ispa sanuiul
03 sanuiw
§ amf hiuamy

[

| 0 sapnuw
ﬁ hauami

1sod
XU TRTES]

YPop,o

sunf ay1 bunp]




Colour by Multiplication

Do the multiplication calculation and colour the shape in the correct colour.

0-10 1-20 21-30 -4 41-50 51-60 61-70
light blue purple pink yellow green orange dark blue
| 3x3 __ 5x5\ 6x8 /

. 9x3 2%6 _.':5X8
7x4 - 7\ A

N 8x7

4x3




w VILIUPIES OF TWO
o ) f
1 X b /
B Tl T T ] Precure Puzzle
13 |0y |15 |6 |17 |58 |19 |20 . < L
5 \ A X Table
2t |22 | 23| 2w | 25 | 20| 27 | 28 | 29 | 30
W X
o 32 |33 |34 |35 | 36|37 |38 |39 |0 ! .
X Wi fu2 | w3 | v | uws | e | w7 |us |49 |50 _ . &
X 51 |52 |53 | 5|55 |56 |57 |58 |59 |60 _ _ v A_p "
X
6t |62 | 63 | 6k | 65| 66 | 67 | 68 | 69 | 70 ] ) bo /> » 0/ /
" : hv 27
n |72 |73 |74 |75 |76 |77 | 78 | 79 | 80 m g ‘v A‘ow da& .
A x " { :
1 81 | 82|83 |3, |85 |86|87 |88 ]|89]50 m ‘\\ lfq wve S0 u,/_ L ,x.\
% 91 @‘/ N
i5 X
s

which are multiples of 2. b”lﬂ’ml ,
| meﬁﬁuﬂm%w —
_ b(‘« éﬁ%ﬂﬁlﬁ VAR
- PRREEREADN
DSiclisya

What can you see?

2x 2z = 92 |93 | 9. |95 | 96 | 97 | 98 | 99 | 100 : B‘@h Q
Complete this table. _,\_mxmmumnm.a by colouring all the numbers m nn& %ap )
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Six times table Multiples ot six

IBEBERERRE Pleture Puzzle
EbxE = 1t 1213 o |15 |16 | 57 |58 | 19 | 20 i
3 X 6 = m\\ v\/_.m.%umﬁl,
21 | 22| 23| 2| 25| 20|27 |28 |29 |30
b X 6 =
3
22 s 3 2|33 |34|35]|36|37 |38 |39 |40
& X 6 = Y 2 [ 43 | el | W5 | k6 | L7 [ 48 | 49 | 50
7 X 6 = 5t |52 | 53| 54|55 |56 |57 | 58 | 59 | 60
6 =
8 x 61 |62 |63 | 64w |65 | 6o |67 |68 |69 |70
9 X 6 = "
|72 | I3 | Tk |75 |76 |77 | 78 |79 | BO
10X 6 =
81 | 82|83 | 8, |85 | 8 | 87 | 88 | 89 | 90
X 6 =
2% 6 = 91 |92 |93 | 94| 95 | 96 | 97 | 98 | 99 |r00
Complete this table. Make a pattern by colouring all the numbers

which are multiples of 6.

Solve the puzzie picture opposite by colouring
just those numbers which divide by 6.
What can you see?



Pleture Puzzle

Q b4 table

Wi |2 [ b3 | Wi | WS | 46 | L7 | L8 | L9 | 50

S5 58
6k | € 7 | 68 9 | 70
-S... 78
sL. 86 88 | 89
9L 98 | 99

M pattern by col g all the numbers
which are multip f

wo_<05mvcnn_au§:qoooooﬂ$c<8_o§=o
just those numbers which divide by 7.
What can you see?



Eight times table Multiples ot eigtit

Pleeure Puzz/e
-
2 X 8 =
pi ez fa3 |y |15 | re |17 |58 | 19 | 20 R »
3 x8 Z : & X table
21 |22 23| 2|25 | 20|27 |28 |28} 30 o
L x 8 =
. B = 31 |32!35 |su|35]|36|37 |38 |39 L0
6 X 8 = Wt w2 |63 | v | w5 w6 | w7 {48 |49 | 50
7 X 8 = 51 |52 ]| 53| 54|55 |56 |57 |58 )59 60
8 =
B] X ot 62|65 | 6n|65| 66|67 |68 |69 |70
9 X 8 = i
nlzzlss|7e 75|76 |77 |78 | 79 | 8O
X 8 =
gy [ 82|83 |8, |85 |86 |87 |88 89|90 | .
ux 8 =
X 8 = ot [92 | 93| 9| 95 | 96 | 97 | 98 | 99 |100
Complete this table. Make a pattern by colouring all the numbers

which are multiples of 8.

Solve the puzzle picture opposite by colouring
Eﬁﬁo&m:q:.&aﬁiﬁ:&&ogm.
What can you see?



Nine times table

Multiples ot nine

P x 9 = i 2 3 b 5 6 | 7 8 9 | 0
2 X 9 =

2| 3]s |6 |7 |8 |19 |20
3X 5 Z

2t |22 | 23 | 24|25 | 20|27 | 28 29 | 30
wXx 9 = -
S Fl= 103233 |3%|35]|36|37 |38 39|40
6 X9 = GE w2 | b3 | Wi |65 | k6 | W7 | 48 | 49 | 50

X 9 2 51 |52 | 53| 54{55 |56 |57 | 58 59 | 60

8 X9 = ot |62 )65 | 6u|65| 66|67 |68 |69 |70
9 X 9 = :

7t |72 |75 |74 |25 |76 |77 | 78 | 79 | BO
10X 9 =

81 | 82|83 | 84|85 |86 |87 |88 | 89|90
X 9 =
12X 9 = 91 |92 |93 | 9| 95 | %90 | 97 | 98 89 | 100
Complete this table. Make a pattern by colouring all the numbers

Solve the puzzle picture opposite by colouring

which are multiples of 9.

just those numbers which divide by 9.

What can you see?

aheis teeilE

26

Pieture Puzz/e

y Lo
ﬁg X .m\.nrﬁh.
19
16 33
3L | 22 "7
53
& 1ww 31
19 &2 |
& 15 g 3 | R 15
s =2 1 " 73 56
51 s\8 &3 |2
e n St/ 27 29 N\ 6k 99 ?
7 = =
2 lo3 P 56 2 5k 71 9t (14
55 55\
ar S 22 8.0 {8 2 )38
4 B3 29 = ) 15
& : 546 108 = »
10 27 56 =
o xry 56 |\ 8%
i3 /2 &l 18156 18 & =
[ 145,
28 1e8 s e 18 L5 ¥ ...
o1 72 |7 |90 2853 frp A 39
s/ 72 24 A8t r = X
1 51 N\ 19 9 & ! £ f 5
z 36 i 2
15 72 | %% 45 "5 3
gn \ Bl 56 | Sl |20
62 \19 95 5%\ g B9 f ==
77 |E £ 1" (]
15 - s1 /)
24 7, 21 @ 1s\F| @
L 5 |l s /557 7./ 53
56 1 5| 18| 45
2 93| i
109 // 72 | 45
63 N19
26 |8 89 9 W tE
"
na P 29 A 6% 73
o iz
39 17 \19
21 | 56 13
[2:1 1 "



Ten times table

MUIIpIes ot e

1 Xi0 = i 2| 3| ] 5 6|7 |8 |9 |10
2 X1 =

1tk {12 |13 | o |15 |16 |17 |58 | 19 | 20
3 X1 =

21 22 23 | 2k | 25 NO_ 27 | 28 | 29 | 30
b X10 = .

3 | 32 | 33 35 | 36
5 Xib = E{'S 37 |38 |39 | 4O
6 X0 = Wl b2 [ b3 | W |WS |46 | W7 | LB |49 | 50
7 X110 = 50 |52 | 33 | 54..| 55 | 56 | 57 | 58 | 59 | 60

o =

B 61 |62 |63 | 6w | 65| 66|67 |68 |69 |70
9 X0 = s

N |72 |73 | T4 |25 |76 |77 | 7B | 79 | BO
lox 10 =

81 | 82|83 | 8. |85 | 86 | 87 | 88 | 89 | 90
1Wxiw =
B2 o = ot |92 | 93 | 9. |95 | 96 | 97 | 98 | 99 |00
Complete this table. Make a pattern by cotouring all the numbers

which are muttiples of 10.

"R AARNTK

p=OEan

l_w.o.. = . lL

IWIn MEYir s IWII_QI

\.r\“ S = = s il

Solve the puzzle picture apposite by colouring
just those numbers which divide by 10.

What can you see?




Eleven times table MUITIpIES Ul eievert

o 2

Pleture Puzz/e
2 X1 = _

by |12 |13 e f1s |16 |17 |58 | 19 | 20 .
5 x = . : 1 X Teble

2t |22 23| 24|25 | 26|27 | 28 |29 | 30
L Xn = B

= 3 3

3|32 33 36
B 3 T 3 | 35 37 |38 | 39 Te
6 XN = G J L2 | b3 | Wi | L5 | L6 | L7 | LB |49 | 50
- XnZ 50 |52 | 55 | 5. | 35 | 56 | 57 | 58 | 59 | 60
P eis = ot |62 |63 |64 | 65| 66|67 |68 |69 |70
® X111 = 5

7|72 |75 |74 |75 |76 |77 | 78 | 79 | BO
oX It =

a1 82|83 |8, |85 |86 |87 |88 |89 |90
MoxX =
ool = 91 |92 |93 | 94 |95 | 96 | 97 | 98 | 99 [100
Complete this table. Make a pattern by colouring all the numbers

which are multiples of 11.
|
!

Solve the puzzle picture opposite by colouring
just those numbers which divide by 11.
What can you see?
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Addition mental strategies — split strategy mam can be spilt into 100, 30 and 8.
==

-
When adding large numbers in our heads it can be easier to split one of

the numbers into parts and add each part separately.
100
214+ 138 30 |— 214 +100=314 — 314+30=344 — 344 +8=352

ﬁ L8] 214 +138 =352

REMEMBER L

° Use the split strategy to add the numbers. The first one has been done for you.

a 623+28 b 38+26 c 156+142
623 + 20 = 643
643+8 =651
623 + 28 =651 38+26= _

156 +142 =

o These problems have been split and some have been solved already. Lucky, hey? You just have to work
out what the second numbers were before they were split and answer any unsolved problems:

a 416+90+1=507 b 230+30+3= € 283+60+7=|

was was was
416+ 91 230+ 283 +
d 532+60+1= e 425+100+40+2= f 129+200+40+6= _
was was Wwas
532+ 425+ 129+

0 Work out the answers to these questions by using the split strategy. See if you can do the working in
your head. If it helps, make notes as you go:

a 173+36=| b 446+51 =| ¢ 112+83 =
d 724+72= e 475+122= f 1234168 7

_  — )

Addition and Subiraction

Copyright © 3P Learning

Addition mental strategies — split strategy

° Butterflies can fly great distances. Use the map and the split strategy to calculate the total distance flown
by each butterfly in the table below:

R - .
*not to scale Lotor 476 km TE s e m——n g Q
| Sept |

Flight path Distances to add | Total distance |

The Field Crescent flies from Lotor to Villa and then to Seaport 55+45

The Painted Lady flies from Sept to Lotor and then to Villa

The Fawn flies from Seaport to Effe and then to Kia

The Monarch flies from Sept to Kia and then to Effe

We often use the split strategy when adding money. We split the amounts into pounds and pence,
work out each part and then add the two answers together:
£28.50 + £16.80 = (£28 + £16) + (£0.50 + £0.80)
=£44 + £1.30
=£45.30

o Match the price tags with the bills:

S = S

| £1825 + £12.75 | S e
_ - O £64.70+£1130 | Total: £46 |
Total: £31 —
RS0 B~ ey R
£11.85 + £34 15 i Total: £130

£56.35+£73.65

Addition and Subtraction
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This is a game for 2 players. You will need a counter
each, a die and some luﬁ to keep score.

Choose the best
addition mental

63

i
Each of you will n_._o.umm,.m starting square on the top row.
The object of this mm_.:m,mm to get to the finish line first with
the largest total.

Roll a die. If you throw:
»a1or2,you can only imove one square across the row in either direction;

= a 3 or 4 means you nm%_ move ane square diagonally;
» 3 5 or 6 means you move one downwards.

Add the two numbers :%m:m a strategy of your choice. Record your total as you go.
Who will arrive at the m.,:m: with the largest score? Good luck!

76 42 50 74
54 63 95
70 83 57 49
52 86 37
47 17 72 56 | | memmemar
would give
you m..m _mammw
3 m W W h mm possible score?
17 | 32

Drscover

Addition land Subtraction
Copyright © 3P Learning

7

(L)

SERIES  TOMIC

Work out the answers to n_.:Tmm sums in your head. Each answer matches a letter in

the list on the right. Write %m letters next to your answers, then unjumble the letters

to find the name of a city. |

Try competing with a Em:%o be the fastest to do all of the sums and work out
the names of the three cities.

a 701+126 = Letter H
S01+81 = _H— Letter A =922
810+117 = Letter B =754

C=141

304+ 205 = Letter
D =582
810+17 = | Letter £ =927
230+ 626 = D Letter F =735
G =222

The cityi

L/ H =358
| =780

b 293 ) = agg
811+111 = —H Letter K = 481
650+ 130 = _H_ Letter L =903

M =398
610+57 = _U Letter
N = 856
380+32 = _ Letter 0 = 975
LM P = 667
The city is
Q =555
R =412
c 816+40 = _ Letter
— S =509
913+62 = _ Letter T =538
751+105 = Letter U = 656
830+79 = | Letter VS
W =1150
882+93 = Letter
: X =716
471+111 = | Letter Y = 827
) Z=1907
The city is

Addition and Subtraction

,
Copyright & 3P Laarming
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Subtraction mental strategies — split strategy

Remember that
215is200+10+5

When subtracting large numbers in our heads it can be easier to split
the number to be subtracted into parts and work with each part separately.

200
468-215 & 10 | — 468-200=268 — 268 - 10 =258 — 258 —5 = 253
u 468 —215 =253
REMEMBER
S

° Practise splitting these numbers into hundreds, tens and units. The first one is done for you.
a 356=300+50+6 b 289= c 867=

d 923= e 442= f 294=

o Use the split strategy to subtract:
[ ]

]

a 468-316 & b 574—155 ¢ 457-323

468-300 = - = . =

-10 = = = - =

-6

458 —215 = 574-155 = 457 -323

° Work out the answers to these questions then cross out the letter above each answer in the puzzle.
The letters that remain will form the answer to the riddle.

a 484-74 =| b 400-80 uH ¢ 406-106=

d 410-40 = e 403-13 =| | f 455-60 =|
[ [ ]
|

505-25 = | i 520-25 =

410-100=

l

-

g 497-92 =|

|

i 795-150=

. . . N /M ) — T .
Riddle: MMHMWMHHHMM“W—_S:BR _!lkw D D C _ y r j _ _ ﬁl_ D mi

P S NI, Se—

; |
Addition and Subtraction _,Wwa./_ _,®_M 1
A R
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Subtraction mental strategies — split strategy

o These problems have been completed. Are they correct? If not, circle where it all began to go wrong:

100 100 [100]

a 375-164 £ 60 | b 429-143 {1 40 | ¢ 179-158 H 50
(4] (3] (8]
375-100 = 275 429-100= 323 179-100= 79
275-60 = 215 323-4 =319 79-50 =39
215-4 = 211 319-3 = 316 39-8 =31
375-164 = 211 429-143= 316 179-158 = 31

o The following problems require you to add and subtract. Use the split strategy to help you solve them:

Four different families went on a holiday over Easter. Work out the distance that each car has travelled on
the missing days:

. Robertsons Pankhursts Cailes Darnleys
Day 1 125 km 225 km 130 km
Day2 375 km 525 km
Day 3 110 km 125 km 270 km
s 735 km 836 km 950 km 695 km

distance

Make as many notes as you need to help you:

o Assuming that each family started their holiday from the same place, work out where each family was
at the end of Day 2. Connect the place with the family by drawing a line:

Family Place

E h Damp ’n Crazy Water Park — 726 km .,.
E ﬁ The Big Baboon — 825 km \ﬂ
E n\ Insect Museum — 425 km ]

00l

Cailes rw The Giant Toothbrush — 500 km Iu
3 . y .
21 __ﬁ_u H® Addition and Subtraction
| J
_ N N .v Copyright < 3P Leaining
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Written methods — addition

's )\
How do we add using a written strategy?
First we estimate: 235 + 500 = 735. Our answer will be around 735.

You can play with 1 to 4 players and you will need two
dice and a love of snakes!

U We start with the units. 5 + 9 is 14 units. We rename this as 1 ten and 4 units.
.............. 5 We put the 4 in the units column and carry the 1 to the tens column.
©++= 31tens plus 8 tens plus the carried ten is 12 tens.
Start at 200. Throw the dice and + s We rename this as 1 hundred and 2 tens
add the numbers. The answer is the 4 We put the 2 in the tens column and carry the 1 to the hundreds column.
number of spaces you can move. We add the hundreds. We put 7 in the hundreds column.
Follow the numbers. If you land on a square with a snake Finally we check against our estimate ~ do they match?
you must work out the answer to the subtraction and move back o 7

to that square! The winner is the first to finish ... alive!
o Solve these addition problems. First estimate the answers:

263 e | [e: ) 5 "
inish 261 260 258 257 256 — E— -
Finis a iHiT:iU b e iHiTiu d HiTiU
4 3iald 288
248 250 251 252 254 rieds3 $ 893
247 246 245 243 242 241 240 A.m ._ e _ | e B -_
f  ThiWiT U g ThiH: T U h iThiH:T:U
e i 6 isigigis 3:2:8:1
233 234 235 237 239 3 +it1i2:7%a +:1:4:2:8
NWH Nwo NNm NNN NNWIV NN# P L L R TR e ]
° Use these cards to make 5 different addition problems using 2 and 3 digit numbers.
Shaw your working out:
217 | 218 21 | 222 | 223 . @ 4 ﬁ s|{6ll7 7 8 4 9 =4
215 214 212 211 210 LH 208
AW.& &
20 201 202 203 .\wm 4 205 206 207
Start S
Addition and Subtraction \/ O 15 Addition and mcﬂu:\nn:o: |._.«||..x \ | I.Hw
Copyrigt & 3P Learning @ @ Copyright © 3P lestnuig f@ r..flla
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Written methods — subtraction

e Use a calculator to add 1
each group of numbers.

Turn your calculator
upside down to see a

word on the screen.
Use the key below to

help you identify the
letters. Write each word

in the correct place in 3
the crossword puzzle.

CLUES
Across
2.3025+1589 =

-

. 4456+1207 =
5.2776+2861 =

6. 12824+3225]1 =

Down
1. 34569 +342047 =

2. 20786+36548 =

3. 456789+ 120556 =

Key

da

SERIES TOPIC

Addition and Subtraction

Capyright < 3P Leaming

Written methods — adding and subtracting decimals

When we add and subtract decimals we follow the same rules we use iTiulT
when working with whole numbers. We need to make sure we line up Iﬁ
the place values and the decimal points: REAER et
-11:i7e2
2601

° Estimate and solve these addition problems. Remember to put the decimal point into your answers:

@ Estimate and solve these subtraction problems. Remember to put the decimal point into your answers:

F

_.m” | e: | e: N
a b TiUWid £ T it & d T . U T
9:+0:8 ipaE 3 g v7
= ~ 2.5 4% v 3 -:2+¢0. 4 =7 F &2 |3

@ Bart finished his race in a time of 10.67 secs. Lisa finished in 11.24 secs. How much faster was Bart?

Addition and Subtraction
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Mental multiplication strategies — doubling strategy

Doubling is a useful strategy to use when multiplying.
To multiply a number by four, double it twice. : To multiply a number by eight, double it three times.
15 x 4 double once = 30 13 x 8 double once = 26
60 i double twice = 52
: double three times = 104

0

double twice

° Warm up with some doubling practice:

a b c

e Finish the doubling patterns:

a 4 8 16 64

b 3 96
c 5 40

d 25 50

e 7 28 224
f 75 300

° Choose a number and create your own doubling pattern. How high can you go? What patterns can you
see within your pattern?

° Two sets of twins turn 12. They decide to have a joint birthday party with 1 giant cake but they all want
their own candles. How many candles will they need?

Mental multiplication strategies — doubling strategy

0 Use the doubling strategy to solve these:

a 13x4
b 16x4
c 24x4
d 25x4
e 32x4
f 21x4

g 35x4

C

x2

)

=

26

52

o Use the doubling strategy to solve these:

To multiply by 4, double
twice. To multiply by 8,
double three times.

REMEMBER

Cz ) Cxa ) (Cxe )
a 12x8 24 96
b 14x8 112
c 25x8
d 21x8 84
e 13x8
f 16x8 32

o Work out the answers in your head using the appropriate doubling strategy. Use a table like the one

. —
Multiplication and Division q.o_ __Q_ 1
\ 7\
N N
TOPIC

Copyright ¢ 3P Lecrning
SERIES

above if it helps.

' ;;-i

e Nick’s dad offered him two methods of payment for helping with a 5 week landscaping preject.

Method 1: £24 a week for 5 weeks.

Method 2: £8 for the first week, then double the payment each week.

Which method would earn Nick the most money? Why?

Multiplication and Division
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Mental multiplication strategies — split strategy Mental multiplication strategies — split strategy

s . =7 ) i ber int t d K with th | ° Each trail contains 2 multiplication problems and steps to solve them. Only one trail has been solved
ometimes it’s easier to split a number into parts and work with the parts separately. correctly. There are errors in the other two. Find and colour the winning trail.

Look at 64 x 8

Split the number into 60 and 4

Work out (60 x 8)and then (4 x 8)

Add the answers together 480 + 32 = 512

o Use the split strategy to answer the questions: 78
a 46 x4 i b 74x5 i c48x4a
(40 x 4)+(6 x 4) L% __ )Y+ x_) ox_J+(_x_1)
”. _ 291 114

)

(30x9)+(3x9) {10x 6)+ (3 x6) (10 x 9) + (6 x 9)
13x6 33x9 16x9

a 48gley= i = _H_ It's a good thing | 464 294 51

know how to work
b 52 x7= + = with multiples of 1

ten in my head!

(40x 7} +{2x7) 400 + 64 30+21

d 8 x29 = + = \ |
e 86 x7 = + = _ e

42 x7 58 x 8 17>3

o These problems have been worked out incorrectly. Circle where it all went wrong.

a 37x6 b 17 x5 c 32x9
{30 x 6) + {7 % 6) (10 x 5) + (7 x 5) (30 x 9) + (2 x 9)
180 + 13 70 + 35 27 + 18 I
=193 = 105 = 45

Multiplication and Division Multiplication and Division

Copyright ¢ 2P Learning Cagyright & 3F Leos
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Mental multiplication sirategies — factors and multiples

Factors are the numbers we multiply together to get to another number:

(actor) » (actor ) = (Cuholemamber )

How many factors does the number 12 have? 4 x 3 = 12,6 x 2 = 12,1 x 12 = 12
4,3,6,2,1and 12 are all factors of 12.

° List the factors of these numbers:

a 18 .m_uNm
c 14 ”Mum
e 16 W.*Hm
g 30 w_.ﬁ

o Fill the gaps in these sentences. The first one has been done for you.

a 1 or 16 or_ 2 or_8 or_#% peoplecanshare 16 sweets evenly.

b or or or or or people can share 20 slices of pie evenly.

c or or or or or or or people can share 24 cherries.
d or or or or or or or people can share 30 pencils.
e __ or____ people canshare5 balls evenly.

A factor divides into
a number evenly
with no remainder.

=
Multiplication and Division _.@ ( \_
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Mental multiplication strategies — factors and multiples

Multiples are the answers we get when we multiply 2 factors.
Think about the 3 times tables where 3 is always a factor.

What are the multiples of 3? -
3,6,9,12, 15, 18, 21, 24, 27, 30,33 and 36 ... (3 ) x (factor) = (__muttiple )

° Fill in the gaps on these multiple boards:

Numbers can be either factors or multiples depending on where they sit in the number sentence.

o Choose 2 numbers between 2 and 5 and put them in the first frame as factors. Your answer is the
multiple. Now take that multiple and make it a factor in another number sentence. Write in the other
factor and solve the problem. Then make the answer a factor again. Can you fill the grid? Use a calculator
for the larger problems. The first one has been done for you.

al 3 |x| 4 |=|12 Hm_x_nTNa | 24 |«

2
|

——

— 3 . N .
10 \a. .e. Multiplication and Division
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Mental division strategies — divide by 10s, 100s and 1 000s Mental division strategies — halving strategy

s ™
When we divide by 10 we move the number one place value to the right. When the two numbers seem too large to work wizh in our heads, we can halve them till we get to
When we divide by 100 we move the number two place values to the right. a division fact we recognise. Both numbers must be even for this to work.
When we divide by 1 000 we move the number three place values to the right. 126 + 14
Look what happens to 45 000 when we apply these rules: (half 126) = (half 14)
Ten Thousands = Thousands Hundreds 63 7= 9
4 5 0 0 + 10 o Practise your halving. The first one has been done for you.
4 5 0 + 100
4 5 + 1000 ) ;
02 =
° Divide the following numbers by 10, 100 and 1 000:
halve
a QM TTh Th H 1E U
4 5 0 0 0 4 3 0 0 0
+ 10 + 10
+ 100 P D S B e I e e e
| + 1000 + 1000 .

° Halve each number to get to a recognisable division fact. The first one has been done for you.

c ‘Ml TTh Th | H . ]
i 4 I a 112 + 14 56 = 7 - 8

-
[

8 5 0 0 0 3 8 0 0 0
_ +10 + 10 b 144 + 16 + - i
+ 100 | ] + 100 b
<+ 1000 _ | | + 1000 c 96 + 12 = u_ _
. . S L —_ d 220 = 4 s !

e 162+18 = =

a ﬁ What number is one thousand times smaller than 32 000? v 9500
b _ What number is ane hundred times smaller than 32 0007 u E 0 Match the problems with their halved equivalents. Then solve the problem. The first one has been done

o Draw lines to match the answers with the questions: T

for you.

c m What number is one hundred times smaller than 95 000? u a 90 + 18 60 + 6 - = 5

#

g 4 + =
d m What number is ten times smaller than 95 000? u 880 b S Ee 2 E \ |
¢ 120 = 12 35 + 7 . =
e m What number is one hundred times srr:aller than 8 8007 _ ——
220 d 70 + 14 45+ 9 = |
- = = : =
f m What number is ten times smaller than 8 8007 u a g o | ,,
L=
f 48 =+ 16 32 -+ 8 = ~

. - . ) —
Multiplication and Division 14l I \ _\\.../... Multiplication and Division
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Mental division strategies — splif strategy

° Play this game with a partner. Use one copy of this page between you. Cut out the problems
on the left and stack them face up. Cut out and spread the other cards face up. Work
together [or race) to find two numbers you could divide to solve the problem on the top

card of the pile. One card in the pair will be grey, the other white. For example, if the

problem was 76 + 4, you could locate 36 and 40.

Multiplication and Division
ﬁovimm,,v_. € 3P Learning
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Mental division strategies — tests Amu* divisibility

Divisibility tests tell us if a number can be divided evenly by another (that is with no remainders).

o Use the rules to test out the numbers in the last column. The first two have been done for you:

Divisible by Rule
Is 458 divisible by 27
2 A number is divisible by 2 if it’s even Yes; because it endy i anv
{endsin 0, 2, 4, 6 or 8). everv nuvmber.
Is 7 281 divisible by 3?
3 A number is divisible by 3 if the sum of 75t 2 TSk Seis
its digits is divisible by 3. Yes, because 18 iy divisible by 3.
1s 3 912 divisible by 4?
s A number is divisible by 4 if the _Tcacmﬂ
made by the last 2 digits is divisible by 4.
Is 455 divisible by 5?
A number is divisible by 5 if there’s
5 . )
a0 or 5in the units place.
Is 74 160 divisible by 8?
3 A number is divisible by 8 if the last
3 digits are divisible by 8.
Is 6 345 divisible by 97
5 A number is divisible by 9 if the sum of
its digits is divisible by 9. ,
Is 5 680 divisible by 10?
10 Anumber is divisible by 10 if there is

a zero in the units place.

18
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Written methods — contracted multiplication

0 Below are Jess and Harry’s tests. Check them and give them a mark out of 5. If they made mistakes,

give them some feedback as to where they went wrong.

PO Y
x 2
7 7 4
1 1 9
X 7
7 7 3

2 0 3 i
X 3
6 0 9

4 3 6
x 3 X
1 2 0 8
4 0 1
X 7

Multiplication and Division

3P leorning

Written methods — extended multiplication

s

b=
-
c

\

Extended multiplication is another way of solving
problems. In extended muliplication we muitiply
the units, tens and hundreds separately then add

LA
x 3 3
2.+ Bx4
ol B % 30) the answers together.
S0 < (3 x 200)
P2

\

° Use a calculator to help you work out the values you could expect when

multiplying the following. Tick the columns:

aunitby a unit —» 9 x 7

2 x 2 would give
me a unit only. But

8 x 6 would give me
tens and units. I'll
tick both columns.

b |atenbyaunit —» 43 x 5

¢ | ahundred by a unit —» 126 x 7

d |atenbyaten — 13 x 72

e | atenbyahundred —» 55 x 120

° Complete using extended multiplication. Estimate first:

-

L

| e | L& | e: |
s 2:i4:5 b 2 itgtgin c 3:2:7
x 2 » i et » -]
{2 x5) i L 7x2) (8 x7)
(2 % 40) . (7x50) (8 x 20)
(2 x 200) i (7 x 400) (8 x 300)
| e: e
d 2:7:9 e 4:1 2
x 2 * g9
Coex__ ) (ox__ )
2x___ ) (9x___ )
(2x___ ) : 9x__ )
o ﬁ _\1!/ __ﬂ@._ Multiplication and Division
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Written methods — short division with remainders

~

Sometimes numbers don’t divide evenly. The amount left over is called the remainder.
Look at 527 divided by 5.

500 divided by 5 is 100.

27 divided by 5 is 5 with 2 left over (this is the remainder).
This can be written asr 2.

527 + 5 = 105r 2.

a r b c ir
9 4 6
d e f
e p——
5 4 Jais 6
/
° Divide these 3 digit numbers. Each problem will have a remainder.
2 b ir c ir
s-hgi i s b7 3 )6 g 4 Jaigia
d ir e r f ir
9 9 i 9 4 4 8 4 5 6 & 3 8

0 Solve these problems:

a Giovanni’s Nan has given him a bag of gold coins to share among him and his two sisters.
There are 47 gold coins altogether. How mzny does each child get if they’re shared evenly?
How would you suggest they deal with the remainder?

b You have 59 jelly beans to add to party bags. Each bag gets 5 jelly beans. How many full
party bags can you make?

Multiplication and Division @

Copyrigh 3P Learning
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Written methods — short division with remainders

There are 3 ways of expressing remainders. How we do it depends
on how we'd deal with the problem in the real world. Look at:

° One way is to write r 2 as in the example above. We use this when we don’t care about being absolutely
precise and when the remainder can’t be easily broken up. An example would be sharing 527 jelly beans

among 5 people. Solve these problems expressing the remainders as r.

a Share 126 blue pencils among 4 people.

° We can also express a remainder as a fraction. We do this when we can

easily share the remainder. For example, 19 cakes shared among 3 people

is 6 and one third each. Solve these problems expressing the remainder
as a fraction:

b Share 50 sandwiches among
3 people.

a Share 13 pizzas among 4 people.

o We express remainders as decimals when we must be absolutely precise.
Sharing pound amounts is a good example of this. We add the pence
after the decimal point to help us. Try these:

b Share 27 pounds between
2 people

a Share 12 pounds among 4 people.

]
Q2

Multiplication and Division
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b Share 215 paper clips among 7 people,

REMEMBER

-

27 divided by 2 is 13.
Now we have ane pound
left. How how many pence

is half of one pound?
—
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S e apply )

In this activity, you'll use your knowledge of multiplication, division, subtraction and
addition to find as many number statements you can to create one number.

Using ONLY the number 2, +, x, —and + keys on your calculator,
find as many ways as you can to create the number 13.
For example, you could Bmww”

22+2+2=26+2=13

2 1 3 6 4 5 3 8 i 9 8 9 10 12 11

Once | work out the first

AxA=A Ais F=H+L F= "
—— =" couple, the rest come easily! A
. = Record your statements on a piece of paper.
MxM=M+M Mis E=F+2 E= A
=== . === Now, compare your answers with a partner’s. How many did they find?
T-M=A Tis 2xL=1 | = Can you supplement each other’s lists?
. What's the longest statement? What's the shortest?
T+T=H His 2xl)-A=C C=
H-M=1L Lis F+A=N N = e i (eSS
i e ™ 3xT=$ Se Choose another number to make and s22 how many statements you can find or
IS 5 N = —i— g =¥ challenge a partner to 2 competiton. Set a ime limit and see who can find the most

ways to make the number 15 within the time span.

Try this one:
L L E L . . )
_ S it W e investigate |
w |w| ” .m m M M ﬂ H M M m |w- Use your r:oé_maw.m of Bc_ﬂu_mm to help <wc.<<oﬂx out how many boy bugs and
gir! bugs there are in the problem below. Listing all the multiples is a strategy that
would help
4 2 6 6 3 12 0o 8 i Rl i AN s O
.n_%._.wn. Girl bugs have 4 splodges on their backs, boy bugs have 9.
- Altogether there are 48 wn_%wmm, Work out how many girl
th .
AxA=A+A Ais L+E=S Sis bugs and how many boy bugs there are i
A+A=T Tis N-N=I lis
If two letters
are together, Tx2=N Nis U-A=C Cis
weread | T
sma._mmu ’ AT+ N-=E Eis S—(2xT) =P Pis 2
tens digit an: ; S\ Whatta o I
a units digit. 2xE=1L Lis IxU—_P=0 Ois ﬁ/mn‘,“\.‘_ Ao rext What if girl bugs have 8 m.v_mammw and boy bugs rm<.m 6 and there are 120 splodges
- D altogether? How many different answers can you find?
E+T=U Uis © S+E=R Ris

Multiplication and Division

Multiplication and Division Hau @ _ 29 F
g _
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Types of graphs 1 — picture graphs

-
Picture graphs are used to display large amounts
of data. A symbol is chosen to represent a
specific amount. Picture graphs have a title that
tells us what data has been collected, category
labels and a key to show the value of the symbol.

How many chocolate cupcakes were sold?
4+4+4+4+2=18

.

Cupcakes Sold in a Day  Key: @u 4 cupcakes

Strawberry @ @ ﬁ

chocoiite | @ D F &

X

Choc-chip @ @ @ ﬂ

\

o At the bus terminal
buses arrive and
depart at regular

Sunday Monday

Tuesday Wednesday Thursday

Friday

intervals. This picture
graph shows the
number of buses
that departed the
bus terminal in

one week. Use the
graph and the key to
answer the following:

=
=
=
=
=
=

Saturday

a On which day did 55 buses depart?

Key: E =10 buses

b Which is the terminal’s busiest day?

|
¢ How many buses depart on this day? _

e How many more buses depart
on Friday than Saturday?

Movie

Classification |

Comedy

d How many buses leave on Tuesday? _

a How many tickets were bought
for Comedy and Childrens' movies?

Children

b What was the total amount of
tickets bought?

Horror

Action/Drama

Key: ¥ 51 = 100 tickets
[

Data Representation

Ceopyrig

3P Loarning

@

SERIES TOPIC

Types of graphs 1 — picture graphs

o SF put on their own version of “So You Think You Can Dance”. Use the graph and key to answer the following:

Ticket Sales Key: /Eimted’ = 20 tickets

—
!

i

¢ el

=T

T i

a2 How many tickets does each /

b How many tickets were sold in Week 1? ﬁ 7

¢ How many tickets were sold in Week 5?7

d In which week were the most tickets sold?

e How many tickets were sold that week?

f During which two weeks were the same number of tickets sold?

g How many more tickets were sold in Week 3 than Week 1?

h How many tickets were sold during the entire sales period?

In a scandal that rocked the school, it was found that ticket sales data was exaggerated. The maximum
attendees for any one week was actually 60.

a How many tickets does each symbol now represent?

b How many tickets were really sold during the entire sales period?

00

Data Representation

SERIES TOPIC
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Types of graphs 1 — column graphs Types of graphs 1 — column graphs

D Name your graph
and both axes

D Label each column
T selectand tabel an

° 5D decide to run a recycling campaign and collect cans in and around the school. They recorded how
many cans were collected each week and started constructing this column graph. In Week 3 they

Number of
Pupils

° The after school club kids are staging a
mutiny. They are over watching the same

Activity

DVDs and making popcorn every day and No change 1 appropriate scale collected 40 cans and in Week 4 they collected 10 cans.
want to do something new and exciting — =
on Wednesdays. This table shows the Swimming 3 Cans Collected a Add Week 3 and 4 data to the graph.
iviti , Art 11
activities they'd prefer. 0 b There was a soft drink special at the local store during
a Help them present a case to the head Eoatill 18 one of the weeks. Which week do you think it was
teacher by completing the column Dancing 23 &2 and why?
graph: w 30
ST RS RL | e i — 2
1 ™
: 2 s
o
A
E
3
215
10
]
5 ¢ How many cans were collected in all?
0 _—
1 z 3 4 d If each can is worth 5p, how much i ]
Week money did 5D make from the campaign? |

° The same information can be represented in different graphs.

a Design a column graph to represent the data shown in this picture graph.

IR [ Typeof Movie|| Ticket Sales
....... i i Comedy @@
j a0 Children | [med [med]
] _ 30 Horror mm._h _mm._
w0 Action/Drama @:ﬁlwu

[ Key: [MEZ] = 20 tickets

¢+ 40 ™
| ] [J Name your graph #
| [[J Label both axes

! [ select and label u-w.ﬂﬂ\\

appropriate scale T -

Action/
Drama (1] Label each column

Children Horror

REMEMBER

b If you ran a cinema and wanted to plan your weekly movie schedule, which graph would
you prefer? Which type of graph makes it easier to analyse and compare data?

b What are some key issues on the graph you'd point out? Work in a small team to come up with
a solution. Pretend your teacher or another group is the head teacher and present your case.

Data Representation Data Representation

Copyright € 3P Learning
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Types of graphs 2 — pie charts Types of graphs 2 — divided bar graphs

° Create your own pie chart. g 3
A divided bar graph is used to show how a total is divided.

a Ask 10 pupils to choose which of these gaming

consoles they like best. It’s similar to a pie chart except it’s a rectangle divided into parts that represent the information.

b Use the table below to collect your data. This divided bar graph shows the favourite food of 10 children.

¢ Show the resuits on a clearly labelled pie chart.

Plzza 4 © o leecream 3
i I ; ] |
Gaming Console
: \
Wii
Xbox 360 ° The Nicholls’ family grocery budget is £200 per week. This table shows how the money is spent:
Playstation 3 e = :
~ Meat Snacks:
Nintendo Game Cube = X
£20 £40 £60 £40 £40

d What fraction of the group surveyed chose Wii?

a Show the information in this table as a divided bar graph. Each space represents £20.

Fruit

b What was W of the budget spent on?

e Survey 10 children on the topic of favourites. You can ask about favourite foods, TV shows, music or
whatever you like.

a Write the topic at the top of the first column. i
o This divided bar graph shows how Paula spent £360 on her party. Answer the questions below about how

b Write 4 options to choose from underneath. much she spent on each category. You may use a calculator.

n

Record your results in the frequency table below.

d Transfer the data from the frequency table to the
pie chart.

Entertainment Food and drink Decorations
I | ! | | |

e Label all sections correctly.

a What is each segment worth?
Tally Amount

b .wl was spent on decorations. How much is this? |

c W was spent on food and drink. How much is this?

d How much was spent on entertainment? Show your workings below:

f Write a statement about what your pie chart shows:

Data Representation Data Representation

10
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Types of graphs 3 — reading line graphs Types of graphs 3 — constructing line graphs

@ Polly and her friend Molly were practising reading a thermometer for homework. They boiled water in a '
kettle and then took turns measuring the temperature every minute as it cooled down. To make this more Let’s see how to build a line graph from a data table. Usually,
interesting, they made it a guessing game. This data shows the rate of filling a fish tank with water. we join the
Look at the graph and answer the questions to see how they went: MMmecanmm
Minutes 1 2 3 4 S we don’t
a Polly guessed that after 1 minute the Cooli -
1 ooling Water N
temperature would be 46 °C. Was she right? y Litres 15 30 45 60 75
T 70
- T Step 1 Step 2
: &a N Carefully plot the data from the table. Join the points with straight lines.
b Molly guessed that after 2 minutes the T so \ - !
temperature would be 34 °C. Was she right? o \ 75 Rate.of Filling glECHRDY 75
3 40 . | [ | i i
[ | 60— . . 60
a 30 |
£ B w 45— _ S —e o 45
= 5 m
Look closely at the graph they made showing 2 = 30 i —— — = 30}
the temperature of the water in the kettle. 10 ” 15— | | _ 15
¢ What s the value of each small division on _ _ | |
the temperature axis? 2 3 4 5 6 T o 1 g g G E Y
. R Minutes Minutes
Time {minutes) ﬁ!

d Bvh h did th A 1d b 0 I d 4 minutes? ° The average rate that water evaporates from an indoor swimming pool is 6 mm a month.
y how much did the water cool down between 2 minutes and 4 minutes?

a Complete this table to show how much water will evaporate over 6 months:

e How long did the water take to cool to 19 °C?

6

Month January | February March | April May June

b Label the vertical axis with an appropriate scale, then plot the points and join the points with a ruler.
What else do you need to add to make this graph complete?

at 65 seconds?

N Height of Kite 7
& | I _ R—— o -
T 52 b How long did the kite E
50 } N £ I — | - L
BEE take to rise from 5 "
g 1T 25 metres to 40 metres? o i ]
£ 40 [ | |
2 | [ 5 H | i L L /IS S |
£ Jid " ma"-l!.|»|| -||+ L
£ LA I ey 2 |
B | @ ' — I ||| | e —
z 20 1 | | ¢ Estimate the height of the kite at 1 minute. m I | ! = | ]I
H |
10 : _ ._w_.:hmJ\ mm_uENE March bﬁw._ a4 ::_:m
: & _ Months of the Year

#* d |If the kite continued to rise, how high do

0 1C 20 30 40 50 60 70 80
you think it would be after 90 seconds?

Time {seconds)

¢ Write 2 questions about this graph and write the answers

Data Representation 13 %
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Types of graphs 3 — travel graphs

° Look carefully at this journey of a cyclist and fill in the blanks.

a | started training at

b | met afriend for breakfast at

| continued again at 4

¢ By8am | had cycled km.

Distance (km)

d Due to a flat tyre, | had to stop again at

e 1turned around to cycle all the way home at

f |gothomeat and had a nice long bubble bath.

o Connect each travel graph to the matching statement with a line,

60

50

40 -

30

20

10

Julie’s Cycling Training

/

\
1
|
\
|
/ |
|
1
\
\

6 7 8 g 10 1

Time of the Day (am)

! was on my way to
school when | felt sick,
so | turned around and

went home again.

On the way to the shops
we stopped to get petrol.

We travelled at the same
speed, not stopping unti
we got there.

Distance from Home
Distance from Home

Distance from Home

Time Time

Time

Data Representation

Copyright ¢ 3F Learning

Collecting and analysing data — frequency tables

-~

When we’re finished, we add the marks to find totals:

Car Types in Car Park

awD i

Raw data is often collected in a frequency table. Tally marks are a quick way to record numbers.

_ Frequency|

I 20

Sedan :\:‘ E\_\

1l 17

Il

Station wagon

WM 20

WM

Hatchback

14

o

o Charlie sold drinks at the beach for an hour each day. He wrote down the drinks he sold each day:

Mo nday Coke

Lemonade | Water Juice |
.._.cn.mmm< Juice Juice Coke Coke
WELGEEGENN  Water Juice Juice Juice Coke Lemonade
Thursday Water Water Water Coke Coke Juice Lemonade
Friday | Lemonade | Water Juice Coke Coke Juice
.mm:..am____ Coke Coke Coke Juice Juice Water | Water
Lemonade |Lemonade Coke Juice Water Coke

Sunday

a This is a ime-consuming way to record data.
Show Charlie how to set up a frequency table
to record the same data faster. The first one
has been done for you.

Frequency|
Coke WMl = |
Juice
Water
Lemonade

-
D Name your graph

and both axes
[ Label each column
D Select and label an
appropriate scale

b Represent your data in 2 column graph:

Data Represent

ation
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Collecting and analysing data — mean Collecting and analysing data — collecting data

o You and a partner are going to record how many cubes land in a box. You will need 10 unifix cubes and o Study all the different types of graphs showing sales of chocolate bars. Match each graph to its main
an empty lunchbox. feature by completing the table below:

Divided Bar Graph

Sales of Chocolate Bars

1 Place the lunchbox 1 metre in front of you. Picture Graph

2 Sit on the floor. Sales of Chocolate Bars

3 Take turns throwing |
Monda % % : i
all 10 cubes at the 1 Y i I
same time. Tuesday % % % Ijy
4 Each record your 2 Wednesda - —— : Mon Tues Wed Thurs
Y i
results in the data % % @ % ;
table on the right. - Thursday % % :
5 Repeat the process Key: gig? = 10 chocolate bars w
5 times. i
b Yty oyt D I T gk e [ T PSP PR e Py I LTI I .m “ o o> = . ¥ . PR . v
Pie Chart : Line Graph
5 Sales of Chocolate Bars i Sales of Chocolate Bars

Sales

° Create a column graph of your results. Label each axis.

Number of Cubes that Landed in the Box

! Mon Tues Wed Thurs
Day of the Week

Column Graph

Sales of Chocolate Bars

Sales

O R N WS WD N m D B

B Throw 1 Throw 2 Throw 3 Throw 4 Throw 5

Tues Wed Thurs
Day of the Week

£
9
3

What is your mean number of cubes that landed in the box?

Y]

Main Feature . Name of Graph

Clear to see how big each category is compared to the whole.

b What was your partner’s mean number of cubes that landed in the box?
Sometimes has a key and looks like a pie.

Shows an exact amount in each category and allows you to
¢ What was the mean of both sets of data together? compare categories.

Compares sizes of categories at a glance and takes up very little space

B

Do you think the mean paints an accurate picture of the process?

Shows numerical data using pictures. Has a key

Shows how data changes in relation to something — usually time.

Data Representation Data Representation

Copyright & 3P | carning
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cLuE 3] | CLUE 4]

Birthdates by Gender

Males Females

Light-fingered Larry

You should know who
the criminal is by now!

Fred Capone

04.01.75 11.02.85
23.02.86 14.02.78
17.02.66 03.03.80
02.04.73 13.05.84
04.04.75 07.07.77
24.04.67 17.10.78
10.05.81 31.10.87
23.05.82
18.07.81 _A.M:.uuz: grims
09.08.67 Sam McNab Earl Wyatt
18.08.63 ' Master Criminal Frannie Fingers
26.09.66 m Bobette Trimbole Emma Getaway
i Ned Kelt Shifty Keys
131072 m_ Dan _Am__“ mmn,wwm_wn_gm
RS m Ellen Kelly Ron Biggs
m_ Pretty-boy Jones Buster Jones
_" Harry Cracker Luke Moran
m Mata Hari Dan Cuffme
i
|

Use the following data to
find out bout them.
nd out more about them CLUE6

Distinguishing Features

Tattoos Glasses

D/SCOVER

Facial Hair More clues on page 26.

v solve u

Hair Colour

SM DC | BB EK EW | FF MH OK FC CW BJ Py | HC

BT LL RB MC NK LM 5K EG

black blonde brown red

CLUES

Height of Known Criminals

cw PJ
BJ EG NK LM
FF FC RB MC HC
EK MR DC EW DK
SM BB BT SK LL
150-59 cm 160-169 cm 170-179 cm 180-185 cm 190-199 ¢cm
Height

Whodunnit? Give a name and a detailed description to the police superintendent:

Create 3 WANTED poster for the guilty party.

. "\ Whatto
do ext

Dota Representation

Copyright & 3P Learning
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Measuring time - time relationships Measuring time - reading analogue clocks

Connect these time facts: o Draw a line from each clock to its matching time in words:

1 minute 24 hours 1 year 10 years
1 hour 365 days 1 fortnight 100 years Aquarterto 8
1day 60 seconds 1 decade 12 months
1 year 60 minutes 1 century 14 days

Half past 2

o How many minutes are there in the following hours?

a 2hours = _ _ minutes b
1 | .
c 3 hour = _ minutes d

25 minutes to 5

hour = minutes

]

hour = minutes

BlW Bl

25 minutes past 3

]

e 4hours u_ minutes f 6hours = minutes
e e P - ) e
° How many seconds are there in the following times? change hours to minutes first. o PEL B UM D E IS
Then | can convert to seconds.

You may use a calculator.

a 2 minutes = seconds b 5 minutes =
1

¢ 1hour = seconds d 5 hour =
1 1

e 5 minute = seconds f 2 hour =

0 Use the information in the top box to work out these time facts: o Using ‘to’ and “past’, write the time displayed on each clock:

D months b 1century = years

. 1 i
c 2fortnights = _ days d 5 century = _ years
hours f 2years = days

seconds

]

seconds

:

seconds a 20 past 6 b Aquarterto7 ¢ 16 minutes past 4 d 25t09

=~
P 3
X

2 ldecade =

e 1week =

. ; b
° What time unit would you use to measure each of the following?
Time to hard boil an egg ;
One millennium N —
One leap year -
d

Length of a football match

Time @ r@ 1

Cepyrighl & 3P Learning
SERIES TOPIC
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Measuring time — 24 hour time

DVD recorders use 24 hour time to record programs.

° Minh wants to record some programs on her DVD.
Enter the start and finish times of each program in 24 hour time. How long is each show?

Channe! 4

9:00 am Science Show
10:00 am Behind the News
11:00 am Weather Report
12:00 pm Midday News

1:30 pm My Name is Greg

2:30 pm Movie: Solaris

4:00 pm 4 pm News

5:00 pm Smartline

6:00 pm Current Affairs

8:00 pm Movie: Chinatown

9:45 pm Late News

Program

Science Show

0900

Length

1 hour

Behind the News

Movie: Solaris

4 pm News

Smartline

Movie: Chinatown

a Carla is training for a marathon. Complete the chart below to show how she spends her day. Colour each
of the segments in the chart using a different colour to show the duration of each activity below.

a How longis Carla’s morning run?

Poer gz 0oV

b How long is Carla’s work day?

Colour Time

Activity

Ooooono Ood

¢ How much time does Carla have between dinner and bed time?

5:00 am — 6:45 am

6:45 am — 8:00 am

8:00 am — 8:45 am
8:45 am — 5:00 pm
5:00 pm —5:45 pm
5:45 pm —7:00 pm
7:00 pm —7:30 pm
7:30 pm —8:15 pm

8:15 pm —10:00 pm

10:00 pm — 5:00 am

Morning run

Breakfast, get
ready for work

Drive to work
Work

Drive home
Gym session
Shower

Have dinner

Watch TV
and read

Sleep

Time

Copyrgh! £ 3P Learmng

Measuring time — time relationship challenges

o

How long does it take to make a loaf of bread?
Read this recipe carefully and work out how long it will take to make the bread.

Method for making a loaf of bread:
1. Make the dough by adding yeast mixture to the flour. This will take 3 minutes.

2. Knead on a lightly floured surface for 10 minutes.

3. Place the dough in a covered bowl and let it rise in a warm place for about HW hours.
4. Shape dough into 2 balls, cover and let it rest for 8 minutes.

5. Shape dough into 2 loaves and let rise until doubled in size {1 hour).
6. Preheat oven to 200°C for 15 minutes.

7. Bake in the preheated oven far 35 minutes or until the top is golden.

Total amount of time needed to make the bread: 7

Use what you know about time relationships to complete this cross number puzzle. You may use a calculator.

Across

years in half a century

minutes in w of an hour
minutes in 1 hour + 20 minutes
hours in 1 day

days in April

hours in 2 days plus 1 hour

hours in half a day

\ORCON I o4l T BESENIDN i

minutes in Hw hours

10. minutes in W of an hour

11. hoursin 4 days and 2 hours

12. your age minus 4

Down
1. vyearsin5 decades
2. days in a fortnight

3. hoursin W a week

seconds in W of a minute

»
m.am<mm:mmuﬁm_ﬂcmﬂu_ﬁwam,\moﬁoﬂocm_‘
6. hoursin 3 days

7

. -3
3_:c~mm_:M:oE

8. secondsin w of a minute
9. monthsin 6 years

10. hoursin 2 days

e — )
ﬁ_ ﬂ‘@_ iy
! !

—_—
SERIES TOPIC
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Calculating time — elapsed time

~ '
Elapsed time is the difference between 2 different times.
To work out the difference between 2 times, first you count the hours, then you count the minutes.

1:55 to 6:10

1:55 to 5:55 =4 hours

5:55to 6:10 =15 minutes

The total elapsed time is 4 hours and 15 minutes.

- J

° How much time is there between:

a Three in the afternoon and eleven that evening?

b 6amand1pm?

¢ Onein the morning and ten in the same morning?

d Seven in the morning until 12:30 pm?

o Work out the time elapsed.
a Linh arrived at a party at: She left at: She was at the party for:

minutes

|

b The bus left at: The bus trip took:

hours

minutes

il

am

¢ The movie started at: The movie went for:
hours

minutes

1l

Time @
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Calculating time — elapsed time

° Work out the elapsed time.

. - - ™
Start Finish Start Finish
_ 9:15am 7 7:30 am _
Elapsad time: Elapsed time
Start Start
A 4:00 pm 7 2:00 am 7
Elapsed time Elapsad time
{ S || |
° Work out the finish time.
' ™
Start Finish Finish
Elapsed time: Elapsed time:

_ 3 hours 10 minutes

| 2 hours 25 minutes

Finish Finish

Elapsed time: Elapsed time:

6 hours 15 minutes | _ 4 hours 30 minutes _

rr B

° Being able to count forward in intervals is an important skill.
Finish each time trail:

a Countonin 15 minutes 9:30 _H_ 10:00 10:15

b Countonin 10 minutes  7:42 7:52 i _ 8:22

d Countonin 10 minutes 2:53

¢ Countoninl5minutes 6:47 _ 7:32 8:02

|
,
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For this game you will need: a group of 6 players, a die, a stopwatch,
a block of chocolate, a knife and fork, a pair of rubber gloves and a hat.

“It’s mayhem!” moaned Sergeant Nixon as he fought his
way backstage through the angry crowds. 100000 fans had
You will also need a copy of this sheet per group. travelled from far and wide to see their idol Max Madness in
OOU< concert, and they were growing increasingly restless as time
e D ticked on with no Max in mmmrn.

Little did the fans know that Max Madness might not appear
at ail — his golden electric maximum voltage guitar had been
stolen and Max was storming around his dressing room,
cursing and muttering, and refusing to go on stage until it
was safely back in his possession.

The aim of this game is to find out which roll of the die gets

to the chocolate the fastest. Your first lucky number will
be 1, then 2, and so on until all the numbers have
been played.

“I've had it with me all day,” he spat. “The only time it was X
out of my sight was when ! was getting a massage between =
5:00 and 6:00 pm!”

Players sit in a circle. Put the chocolate, gloves,

knife and fork and a hat in the centre of the

circle. One player stands outside the group timing how long it takes
play group E{iowions “We'll get it back, Sir,” stated Sergeant Nixon firmly. “No one will get away with that

to roll each number on the die with a stopwatch. Start anywhere in the circle, pass on my watch. This show will go on.”

the die around until a player rolls the lucky number on the die. X
He rounded up 3 likely suspects, all avid fans, who had been found lurking around

The player who rolls the lucky number puts on the hat and gloves and cuts off one backstage. All 3 were obsessed with Max. All 3 had caught the train to the stadium

piece of chocolate at a time to eat. And of course, all 3 swore black and blue that they were innocent.

Meanwhile, the die is still passed around with players trying to roll the lucky number. Tina Sparkies, Max’s self-appointed number 1 (and just a bit crazy) fan, protested,
“Well it couldn’t have been me! | was getting a spray tan and my nails done at 3 pm.

When the next person roils the lucky number, the person who was in the centre That took 2 hours. It takes time to look good, you know. And Max and | might marry

cutting into the chocolate becomes the timer and the timer joins the circle. tonight so | must lock my best ...”

After you have played with all 6 numbers (1-6), order the numbers in the table Rod Raver, a wanna be rock star, m.aﬂmm desperately, “I was with my mates rehearsing

according to how quickly they came up. We started at 3:55 and jammed for 25 hours. Once Max hears how good | am, he'il

want me in his band.”

This first row in this table shows how you need to record the times.

Paparazzi Pete, who stalked Max regularly, claimed, “Nah, not me, mate. | was on
Paris Hilton watch today. | spotted her at 4:15 and kept watch for an hour until it was

Number Hundredths Ranking fastest N "
on die Minutes Seconds of a second to slowest time to come here.
& | One of these suspects arrived at the stadium in time to nick the guitar. Use the train
3 timetable to see whose alibi just doesn’t hold up.
|
4 il =i S
Departs City | Arrives Rock and Roll Stadium
5 [ 3:10 pm 3:40 pm
6 . 4:00 pm - 4:30 pm ) |
4:40 pm ~ 5110pm
5:10 pm 5:40 pm I
R S e R e A T T e R L R T e S R e T e R e g 540 pm 510 pm 1
6:00 pm . 630pm
Compare your table with other groups. Did anyone have a similar ranking of
“lucky” numbers? Answer: . Have you and Sergeant Nixon saved the day?

. — | o B
00 - @@
b ! R A 4 it & 38 L
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Timetables — working out travel time mc_er._ntm on the box2

o R
Quite often when we use public transport we need to be able to work out how we are going to use
more than one mode of transport. We do this by working backwards. Look at this question based

on the timetables below:

ing Five friends like five different TV shows: a cartoon,
a crime show, a reality show, football and a
Ben is at Trinian Street and wants to meet his sitcom. They afl screen on different channels
We can see that Carlsford is the connecting friend at Fisherman’s Wharf at 1:30. (BBC 2, Channel 5, Sky 1, BBC 1 and Channel 4)
point between the train and the bus. and on different nights of the week. Your job is
To get to Fisherman’s Wharf by 1:30 pm, he to match the friend with their favourite show.
needs to catch the 12:20 pm bus from Carlsford. Catch the 12:05 pm | Catch the 12:20 pm
To catch the 12:20 pm bus at Carlsford, he from Trinian Street. | from Carlsford.
needs to catch the 12:05 pm train from Trinian Change at Carlsford | Arrive at Fisherman’s
Street and change to the bus platform. and wait 2 minutes. | Wharf 1:12 pm.

Read the cfues below and use the information to
eliminate possibilities. Show your choices on the grid L
below. You may want to use the grid on the following page

to help you arrange your thoughts.

11:16 am 1. Luke’s favourite show airs on the weekend. He doesn’t watch crime shows and
10:21 am 11:21 am 12:21 pm 1:21 pm thinks sitcoms are a waste of time.
11:05 am 12:05 pm 1:05 pm 2:05 pm 2. The sitcom screens on Tuesday evening on Channel 4,
11:15am 12:18 pm 1:16 pm 2:17 pm 3. The cartoon is on BBC 1.

4. Hung's show is on the highest numbered BBC channel on the first day of the

11:20 am school week. He can’t stand reality TV.

11:50 am 12:50 pm 1:50 pm 2:50 pm 5. No one’s favourite show is on Sunday or Friday.

12:12 pm 1:12 pm 2:12 pm 3:12pm 6. Macey hates sports. Her favourite show is Hung’s least favourite show and
12:32 pm 2:32 pm 3:32 pm 4:32 pm screens 2 days after Jamie’s.

7. The crime show airs on BBC 2.
o Give each person the travel details they need zo arrive at their destination on time.

. . 8. Britt’s favourite show screens on Wednesdays on BBC 1
Remember to work backwards and to find the connecting point. ul vour ys on

9. Jamie’s show screens on Channel 4, one day before Britt’s favourite show.
a Akhil is at Trinian Street and wants to go shopping at Nottsville. He would like to get
there at 3 pm.

10. The football screens on Saturday on Channel 5.

b Masuka is at Knightscove and needs to get to Fisherman’s Wharf for his 12:30 pm shift Macey
at the fish and chips shop.

Mish is at Fig Tree Park and wants to meet ker friend at Slamton at 3:40 pm.

Time Time

ht &3
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